

REFINEMENTS AND REVERSES FOR THE RELATIVE OPERATOR ENTROPY $S(A|B)$ WHEN $B \geq A$

S. S. DRAGOMIR AND C. BUŞE

Communicated by Toshihiro Nakanishi

(Received: February 13, 2018, Revised: May 2, 2018)

ABSTRACT. In this paper we obtain new refinements and reverse inequalities for the relative operator entropy $S(A|B)$ of two positive invertible operators when $B \geq A$. Applications for the operator entropy $\eta(C)$ in the case of positive contractions C are also given.

1. INTRODUCTION

Kamei and Fujii [6], [7] defined the *relative operator entropy* $S(A|B)$, for positive invertible operators A and B , by

$$(1.1) \quad S(A|B) := A^{\frac{1}{2}} \left(\ln \left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}} \right) \right) A^{\frac{1}{2}},$$

which is a relative version of the *operator entropy* considered by Nakamura-Umegaki [15].

For the *entropy function* $\eta(t) = -t \ln t$, the operator entropy has the following expression:

$$\eta(A) = -A \ln A = S(A|1_H) \geq 0$$

for positive contraction A . This shows that the relative operator entropy (1.1) is a relative version of the operator entropy

In [18], A. Uhlmann has shown that the relative operator entropy $S(A|B)$ can be represented as the strong limit

$$(1.2) \quad S(A|B) = s\text{-}\lim_{t \rightarrow 0} \frac{A \sharp_t B - A}{t},$$

where

$$A \sharp_\nu B := A^{1/2} \left(A^{-1/2} B A^{-1/2} \right)^\nu A^{1/2}, \quad \nu \in [0, 1]$$

is the *weighted geometric mean* of positive invertible operators A and B . For $\nu = \frac{1}{2}$ we denote $A \sharp B$.

1991 *Mathematics Subject Classification.* 47A63, 47A30.

Key words and phrases. Inequalities for Logarithm, Relative operator entropy, Operator entropy.

This definition of the weighted geometric mean can be extended for any real number ν with $\nu \neq 0$.

Following [11, p. 149-p. 155], we recall some important properties of relative operator entropy for A and B positive invertible operators:

(i) We have the equalities:

$$(1.3) \quad S(A|B) = -A^{1/2} (\ln A^{1/2} B^{-1} A^{1/2}) A^{1/2} = B^{1/2} \eta (B^{-1/2} A B^{-1/2}) B^{1/2};$$

(ii) We have the inequalities

$$(1.4) \quad S(A|B) \leq A (\ln \|B\| - \ln A) \quad \text{and} \quad S(A|B) \leq B - A;$$

(iii) For any C, D positive invertible operators we have that

$$S(A + B|C + D) \geq S(A|C) + S(B|D);$$

(iv) If $B \leq C$ then

$$S(A|B) \leq S(A|C);$$

(v) If $B_n \downarrow B$ then

$$S(A|B_n) \downarrow S(A|B);$$

(vi) For $\alpha > 0$ we have

$$S(\alpha A|\alpha B) = \alpha S(A|B);$$

(vii) For every operator T we have

$$T^* S(A|B) T \leq S(T^* A T | T^* B T).$$

The relative operator entropy is *jointly concave*, namely, for any positive invertible operators A, B, C, D we have

$$S(tA + (1-t)B | tC + (1-t)D) \geq tS(A|C) + (1-t)S(B|D)$$

for any $t \in [0, 1]$.

For other results on the relative operator entropy see [3], [8], [12], [13], [14] and [16].

For $t > 0$ and the positive invertible operators A, B we define the *Tsallis relative operator entropy* (see also [10]) by

$$T_t(A|B) := \frac{A \sharp_t B - A}{t}.$$

We observe that, for the function

$$f(x) = \frac{1}{t} (1 - x^{-t}) = \frac{x^t - 1}{t} x^{-t}, \quad x > 0,$$

we have

$$\begin{aligned} A^{1/2} f(A^{-1/2} B A^{-1/2}) A^{1/2} &= -A T_t(A^{-1}|B^{-1}) A = T_t(A|B) (A^{-1} \sharp_t B^{-1}) A \\ &= T_t(A|B) (A \sharp_t B)^{-1} A \end{aligned}$$

for any positive invertible operators A, B and $t > 0$.

The following result providing upper and lower bounds for relative operator entropy in terms of $T_t(\cdot|\cdot)$ has been obtained in [6] for $0 < t \leq 1$. However, it holds for any $t > 0$.

Theorem 1. *Let A, B be two positive invertible operators, then for any $t > 0$ we have*

$$(1.5) \quad T_t(A|B) (A\sharp_t B)^{-1} A \leq S(A|B) \leq T_t(A|B).$$

In particular, we have

$$(1.6) \quad A - AB^{-1}A \leq S(A|B) \leq B - A \quad [6]$$

and

$$(1.7) \quad \frac{1}{2}A \left(1_H - (B^{-1}A)^2\right) \leq S(A|B) \leq \frac{1}{2}(BA^{-1}B - A).$$

The case $t = \frac{1}{2}$ is of interest as well, since in this case we get from (1.5) that

$$(1.8) \quad 2(1_H - A(A\sharp B)^{-1})A \leq S(A|B) \leq 2(A\sharp B - A) \leq B - A.$$

This inequality provides a refinement and a reverse for (1.4).

The following upper and lower bounds for the operator entropy also hold for any positive invertible operator C and any $t > 0$:

$$(1.9) \quad \frac{1}{t}C(1_H - C^t) \leq \eta(C) \leq \frac{1}{t}C^{1-t}(1_H - C^t).$$

In particular, we have

$$(1.10) \quad C(1_H - C) \leq \eta(C) \leq 1_H - C,$$

$$(1.11) \quad \frac{1}{2}C(1_H - C^2) \leq \eta(C) \leq \frac{1}{2}(C^{-1} - C)$$

and

$$(1.12) \quad 2C(1_H - C^{1/2}) \leq \eta(C) \leq 2C^{1/2}(1_H - C^{1/2}).$$

Motivated by the above results, in this paper we obtain new refinements and reverse inequalities for the relative operator entropy $S(A|B)$ of two positive invertible operators when $B \geq A$. Applications for the operator entropy $\eta(C)$ in the case of positive contractions C are also given.

2. SOME REFINEMENTS

We start with the following sequence of scalar inequalities:

Lemma 1. *For any $y \geq 1$ we have the inequalities*

$$(2.1) \quad \begin{aligned} 0 &\leq \frac{y-1}{y} \leq \frac{2(y-1)}{y+1} \leq \ln y \leq \frac{y-1}{\sqrt{y}} \\ &\leq \frac{y-1}{y+1} + \frac{y^2-1}{4y} \leq \frac{y^2-1}{2y} \leq y-1. \end{aligned}$$

Proof. We prove only the third, fourth and fifth inequalities, the other ones are obvious due to the fact that $y \geq 1$.

We use the first *Hermite-Hadamard inequality* for *convex functions*, namely [5]

$$(2.2) \quad f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(t) dt,$$

where $f : [a, b] \rightarrow \mathbb{R}$ is a convex function.

If we take in (2.2) $a = 1$ and $b = y$, then we get the third inequality in (2.1).

It is known that, if $G(a, b) := \sqrt{ab}$ is the *geometric mean* of $a, b > 0$ and

$$L(a, b) := \begin{cases} \frac{b-a}{\ln b - \ln a} & \text{if } b \neq a, \\ a & \text{if } b = a \end{cases}$$

is the *logarithmic mean* of a, b , then

$$(2.3) \quad G(a, b) \leq L(a, b).$$

Now, if we take in (2.2) $f(t) = \frac{1}{t}$, $a = 1$ and $b = y$, then we get the fourth inequality in (2.1).

By arithmetic mean-geometric mean inequality,

$$\frac{1}{y+1} + \frac{y+1}{4y} \geq 2\sqrt{\left(\frac{1}{y+1}\right) \frac{y+1}{4y}} = \frac{1}{\sqrt{y}}$$

for $y > 0$, which proves the fifth inequality in (2.1). ■

The following result provides an improvement of (1.5) in the case that $B \geq A$.

Theorem 2. *Let A, B be two positive invertible operators and $B \geq A$, then for any $t > 0$ we have*

$$(2.4) \quad \begin{aligned} 0 &\leq T_t(A|B) (A\sharp_t B)^{-1} A \\ &\leq 2T_t(A|B) (A\sharp_t B + A)^{-1} A \\ &\leq S(A|B) \leq T_t(A|B) (A\sharp_{t/2} B)^{-1} A \\ &\leq T_t(A|B) (A\sharp_t B + A)^{-1} A + \frac{1}{2} T_{2t}(A|B) (A\sharp_t B)^{-1} A \\ &\leq T_{2t}(A|B) (A\sharp_t B)^{-1} A \leq T_t(A|B). \end{aligned}$$

Proof. Let $x \geq 1$ and $t > 0$, then by taking $y = x^t$ in (2.1) we get

$$(2.5) \quad \begin{aligned} 0 &\leq \frac{x^t - 1}{tx^t} \leq \frac{2(x^t - 1)}{t(x^t + 1)} \leq \ln x \leq \frac{x^t - 1}{tx^{t/2}} \\ &\leq \frac{x^t - 1}{t(x^t + 1)} + \frac{x^{2t} - 1}{4tx^t} \leq \frac{x^{2t} - 1}{2tx^t} \leq \frac{x^t - 1}{t}. \end{aligned}$$

Using the functional calculus for the operator $X \geq 1_H$, then by (2.5) we get

$$(2.6) \quad \begin{aligned} 0 &\leq \frac{X^t - 1}{t} X^{-t} \leq 2 \frac{(X^t - 1)}{t} (X^t + 1)^{-1} \leq \ln X \\ &\leq \frac{X^t - 1}{t} X^{-t/2} \leq \frac{(X^t - 1)}{t} (X^t + 1)^{-1} + \frac{1}{2} \frac{X^{2t} - 1}{2t} X^{-t} \\ &\leq \frac{X^{2t} - 1}{2t} X^{-t} \leq \frac{X^t - 1}{t}. \end{aligned}$$

If $B \geq A$, then by multiplying both sides by $A^{-1/2}$ we get $A^{-1/2}BA^{-1/2} \geq 1_H$ and if we write the inequality for $X = A^{-1/2}BA^{-1/2}$, we get

$$\begin{aligned}
(2.7) \quad 0 &\leq \frac{(A^{-1/2}BA^{-1/2})^t - 1}{t} (A^{-1/2}BA^{-1/2})^{-t} \\
&\leq 2 \frac{\left((A^{-1/2}BA^{-1/2})^t - 1 \right)}{t} \left((A^{-1/2}BA^{-1/2})^t + 1 \right)^{-1} \\
&\leq \ln (A^{-1/2}BA^{-1/2}) \\
&\leq \frac{(A^{-1/2}BA^{-1/2})^t - 1}{t} (A^{-1/2}BA^{-1/2})^{-t/2} \\
&\leq \frac{\left((A^{-1/2}BA^{-1/2})^t - 1 \right)}{t} \left((A^{-1/2}BA^{-1/2})^t + 1 \right)^{-1} \\
&\quad + \frac{1}{2} \frac{(A^{-1/2}BA^{-1/2})^{2t} - 1}{2t} (A^{-1/2}BA^{-1/2})^{-t} \\
&\leq \frac{(A^{-1/2}BA^{-1/2})^{2t} - 1}{2t} (A^{-1/2}BA^{-1/2})^{-t} \\
&\leq \frac{(A^{-1/2}BA^{-1/2})^t - 1}{t}.
\end{aligned}$$

Now, by multiplying both sides of (2.7) with $A^{1/2}$, we get

$$\begin{aligned}
(2.8) \quad 0 &\leq A^{1/2} \frac{(A^{-1/2}BA^{-1/2})^t - 1}{t} (A^{-1/2}BA^{-1/2})^{-t} A^{1/2} \\
&\leq 2A^{1/2} \frac{\left((A^{-1/2}BA^{-1/2})^t - 1 \right)}{t} \left((A^{-1/2}BA^{-1/2})^t + 1 \right)^{-1} A^{1/2} \\
&\leq A^{1/2} (\ln (A^{-1/2}BA^{-1/2})) A^{1/2} \\
&\leq A^{1/2} \frac{(A^{-1/2}BA^{-1/2})^t - 1}{t} (A^{-1/2}BA^{-1/2})^{-t/2} A^{1/2} \\
&\leq A^{1/2} \frac{\left((A^{-1/2}BA^{-1/2})^t - 1 \right)}{t} \left((A^{-1/2}BA^{-1/2})^t + 1 \right)^{-1} A^{1/2} \\
&\quad + \frac{1}{2} A^{1/2} \frac{(A^{-1/2}BA^{-1/2})^{2t} - 1}{2t} (A^{-1/2}BA^{-1/2})^{-t} A^{1/2} \\
&\leq A^{1/2} \frac{(A^{-1/2}BA^{-1/2})^{2t} - 1}{2t} (A^{-1/2}BA^{-1/2})^{-t} A^{1/2} \\
&\leq A^{1/2} \frac{(A^{-1/2}BA^{-1/2})^t - 1}{t} A^{1/2}.
\end{aligned}$$

Observe that

$$\begin{aligned}
& A^{1/2} \frac{(A^{-1/2}BA^{-1/2})^t - 1}{t} (A^{-1/2}BA^{-1/2})^{-t} A^{1/2} \\
&= T_t(A|B) (A^{-1}\sharp_t B^{-1}) A = T_t(A|B) (A\sharp_t B)^{-1} A, \\
& A^{1/2} \frac{\left(\frac{(A^{-1/2}BA^{-1/2})^t - 1}{t}\right)}{t} \left(\frac{(A^{-1/2}BA^{-1/2})^t + 1}{t}\right)^{-1} A^{1/2} \\
&= A^{1/2} \frac{\left(\frac{(A^{-1/2}BA^{-1/2})^t - 1}{t}\right)}{t} A^{1/2} A^{-1/2} \\
&\left(A^{-1/2} \left(A^{1/2} (A^{-1/2}BA^{-1/2})^t A^{1/2} + A\right) A^{-1/2}\right)^{-1} A^{1/2} \\
&= A^{1/2} \frac{\left(\frac{(A^{-1/2}BA^{-1/2})^t - 1}{t}\right)}{t} A^{1/2} A^{-1/2} \\
&A^{1/2} \left(A^{1/2} (A^{-1/2}BA^{-1/2})^t A^{1/2} + A\right)^{-1} A^{1/2} A^{1/2} \\
&= T_t(A|B) (A\sharp_t B + A)^{-1} A, \\
& A^{1/2} \frac{(A^{-1/2}BA^{-1/2})^t - 1}{t} (A^{-1/2}BA^{-1/2})^{-t/2} A^{1/2} \\
&= A^{1/2} \frac{(A^{-1/2}BA^{-1/2})^t - 1}{t} A^{1/2} A^{-1/2} (A^{1/2}B^{-1}A^{1/2})^{t/2} A^{-1/2} A^{1/2} A^{1/2} \\
&= T_t(A|B) (A^{-1}\sharp_{t/2} B^{-1}) A = T_t(A|B) (A\sharp_{t/2} B)^{-1} A
\end{aligned}$$

and

$$\begin{aligned}
& A^{1/2} \frac{(A^{-1/2}BA^{-1/2})^{2t} - 1}{2t} (A^{-1/2}BA^{-1/2})^{-t} A^{1/2} \\
&= A^{1/2} \frac{(A^{-1/2}BA^{-1/2})^{2t} - 1}{2t} A^{1/2} A^{-1/2} (A^{1/2}B^{-1}A^{1/2})^t A^{-1/2} A^{1/2} A^{1/2} \\
&= T_{2t}(A|B) (A\sharp_t B)^{-1} A.
\end{aligned}$$

By using the inequalities (2.8) we get the desired result (2.4). ■

If we take in (2.4) $t = \frac{1}{2}$, then we get the inequalities

$$\begin{aligned}
(2.9) \quad & 0 \leq 2 (1_H - A(A\sharp B)^{-1}) A \\
& \leq 4(A\sharp B - A) (A\sharp B + A)^{-1} A \\
& \leq S(A|B) \leq 2(A\sharp B - A) (A\sharp_{1/4} B)^{-1} A \\
& \leq 2(A\sharp B - A) (A\sharp B + A)^{-1} A + \frac{1}{2} (B - A) (A\sharp B)^{-1} A \\
& \leq (B - A) (A\sharp B)^{-1} A \leq 2(A\sharp B - A),
\end{aligned}$$

for any positive invertible operators with $B \geq A$. This provides a refinement of (1.8).

If we take in (2.4) $t = 1$, then we get

$$\begin{aligned}
(2.10) \quad 0 &\leq (B - A) B^{-1} A \leq 2(B - A)(B + A)^{-1} A \\
&\leq S(A|B) \leq (B - A)(A \sharp B)^{-1} A \\
&\leq (B - A)(B + A)^{-1} A + \frac{1}{4}(B - AB^{-1}A) \\
&\leq \frac{1}{2}(B - AB^{-1}A) \leq B - A,
\end{aligned}$$

for any positive invertible operators with $B \geq A$. This provides a refinement of (1.6).

If we take in (2.4) $t = 2$, then we get

$$\begin{aligned}
(2.11) \quad 0 &\leq \frac{1}{2}(BA^{-1}B - A)(B^{-1}A)^2 \\
&\leq (BA^{-1}B - A)(BA^{-1}B + A)^{-1} A \\
&\leq S(A|B) \leq \frac{1}{2}(BA^{-1}B - A)B^{-1}A \\
&\leq \frac{1}{2}(BA^{-1}B - A)(BA^{-1}B + A)^{-1} A + \frac{1}{8}\left((BA^{-1})^2 B - A\right)(B^{-1}A)^2 \\
&\leq \frac{1}{4}\left((BA^{-1})^2 B - A\right)(B^{-1}A)^2 \leq \frac{1}{2}(BA^{-1}B - A),
\end{aligned}$$

for any positive invertible operators with $B \geq A$. This provides a refinement of (1.7).

Corollary 1. *Let C be a positive invertible operator and $C \leq 1_H$, then for any $t > 0$ we have*

$$\begin{aligned}
(2.12) \quad 0 &\leq \frac{1}{t}C(1_H - C^t) \\
&\leq \frac{2}{t}C(1_H - C^t)(1_H + C^t)^{-1} \\
&\leq \eta(C) \leq \frac{1}{t}(1_H - C^t)C^{1-\frac{t}{2}} \\
&\leq \frac{1}{t}C(1_H - C^t)(1_H + C^t)^{-1} + \frac{1}{4t}(1_H - C^{2t})C^{1-t} \\
&\leq \frac{1}{2t}(1_H - C^{2t})C^{1-t} \leq \frac{1}{t}C^{1-t}(1_H - C^t).
\end{aligned}$$

If we take in (2.12) $t = \frac{1}{2}$, then we get

$$\begin{aligned}
(2.13) \quad 0 &\leq 2C (1_H - C^{1/2}) \\
&\leq 4C (1_H - C^{1/2}) (1_H + C^{1/2})^{-1} \\
&\leq \eta(C) \leq 2 (1_H - C^{1/2}) C^{9/4} \\
&\leq 2C (1_H - C^{1/2}) (1_H + C^{1/2})^{-1} + \frac{1}{2} (1_H - C) C^{1/2} \\
&\leq (1_H - C) C^{1/2} \leq 2C^{1/2} (1_H - C^{1/2}),
\end{aligned}$$

for any C be a positive invertible operator with $C \leq 1_H$, which is better than (1.12).

If we take in (2.12) $t = 1$, then we get

$$\begin{aligned}
(2.14) \quad 0 &\leq C (1_H - C) \leq 2C (1_H - C) (1_H + C)^{-1} \\
&\leq \eta(C) \leq (1_H - C) C^{3/2} \\
&\leq C (1_H - C) (1_H + C)^{-1} + \frac{1}{4} (1_H - C^2) \\
&\leq \frac{1}{2} (1_H - C^2) \leq 1_H - C,
\end{aligned}$$

for any C be a positive invertible operator with $C \leq 1_H$, which is better than (1.10).

Finally, if we take in (2.12) $t = 2$, then we get

$$\begin{aligned}
(2.15) \quad 0 &\leq \frac{1}{2} C (1_H - C^2) \\
&\leq C (1_H - C^2) (1_H + C^2)^{-1} \\
&\leq \eta(C) \leq \frac{1}{2} (1_H - C^2) \\
&\leq \frac{1}{2} C (1_H - C^2) (1_H + C^2)^{-1} + \frac{1}{8} (1_H - C^4) C^{-1} \\
&\leq \frac{1}{4} (1_H - C^4) C^{-1} \leq \frac{1}{2} C^{-1} (1_H - C^2),
\end{aligned}$$

for any C be a positive invertible operator with $C \leq 1_H$, which is better than (1.11).

3. SOME REVERSES

We have:

Lemma 2. *For any $y \geq 1$ we have the inequalities*

$$(3.1) \quad 0 \leq \frac{y^2 - 1}{2y} - \ln y \leq \frac{1}{8} \frac{(y - 1)^3 (y + 1)}{y^2}$$

and

$$(3.2) \quad 0 \leq \ln y - \frac{2(y-1)}{y+1} \leq \frac{1}{8} \frac{(y-1)^3 (y+1)}{y^2}.$$

Proof. We use the following reverse of the second Hermite-Hadamard inequality obtained in [2]:

$$(3.3) \quad 0 \leq \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(t) dt \leq \frac{1}{8} (f'_-(b) - f'_+(a)) (b-a).$$

If we take in this inequality $f(t) = \frac{1}{t}$, then we get

$$(3.4) \quad 0 \leq \frac{a+b}{2ab} - \frac{\ln b - \ln a}{b-a} \leq \frac{1}{8} \frac{(b-a)^2 (b+a)}{a^2 b^2}$$

for any $a, b > 0$.

If in this inequality we take $a = 1$ and $b = y \geq 1$, then we get the desired result (3.1).

Further, we use the following reverse of the first Hermite-Hadamard inequality obtained in [1]:

$$(3.5) \quad 0 \leq \frac{1}{b-a} \int_a^b f(t) dt - f\left(\frac{a+b}{2}\right) \leq \frac{1}{8} (f'_-(b) - f'_+(a)) (b-a).$$

If we take in this inequality $f(t) = \frac{1}{t}$, then we get

$$(3.6) \quad 0 \leq \frac{\ln b - \ln a}{b-a} - \frac{2}{a+b} \leq \frac{1}{8} \frac{(b-a)^2 (b+a)}{a^2 b^2}$$

for any $a, b > 0$.

If in this inequality we take $a = 1$ and $b = y \geq 1$, then we get the desired result (3.2). ■

We also have:

Theorem 3. *Let A, B be two positive invertible operators and $B \geq A$, then for any $t > 0$ we have*

$$(3.7) \quad \begin{aligned} 0 &\leq T_{2t}(A|B) (A\sharp_t B)^{-1} A - S(A|B) \\ &\leq \frac{1}{8} T_t(A|B) (A^{-1} - (A\sharp_t B)^{-1}) A (A^{-1} - (A\sharp_t B)^{-1}) (A\sharp_t B + A) \end{aligned}$$

and

$$(3.8) \quad \begin{aligned} 0 &\leq S(A|B) - 2T_t(A|B) (A\sharp_t B + A)^{-1} A \\ &\leq \frac{1}{8} T_t(A|B) (A^{-1} - (A\sharp_t B)^{-1}) A (A^{-1} - (A\sharp_t B)^{-1}) (A\sharp_t B + A). \end{aligned}$$

Proof. From inequality (3.1) for $y = x^t$ with $x \geq 1$ and $t > 0$, we have

$$0 \leq \frac{x^{2t} - 1}{2x^t} - \ln x^t \leq \frac{1}{8} \frac{(x^t - 1)^3 (x^t + 1)}{x^{2t}},$$

that is equivalent to

$$0 \leq \frac{x^{2t} - 1}{2t} x^{-t} - \ln x \leq \frac{1}{8} \left(\frac{x^t - 1}{t} \right) (1 - x^{-t})^2 (x^t + 1),$$

for any $x \geq 1$ and $t > 0$.

By using the functional calculus, we have

$$(3.9) \quad \begin{aligned} 0 &\leq \frac{(A^{-1/2}BA^{-1/2})^{2t} - 1}{2t} (A^{-1/2}BA^{-1/2})^{-t} - \ln (A^{-1/2}BA^{-1/2}) \\ &\leq \frac{1}{8} \left(\frac{(A^{-1/2}BA^{-1/2})^t - 1}{t} \right) \left(1 - (A^{-1/2}BA^{-1/2})^{-t} \right)^2 \\ &\quad \left((A^{-1/2}BA^{-1/2})^t + 1 \right), \end{aligned}$$

for any A, B positive invertible operators with $B \geq A$ and for any $t > 0$.

If we multiply both sides with $A^{1/2}$, then we get

$$(3.10) \quad \begin{aligned} 0 &\leq A^{1/2} \frac{(A^{-1/2}BA^{-1/2})^{2t} - 1}{2t} (A^{-1/2}BA^{-1/2})^{-t} A^{1/2} \\ &\quad - A^{1/2} (\ln (A^{-1/2}BA^{-1/2})) A^{1/2} \\ &\leq \frac{1}{8} A^{1/2} \left(\frac{(A^{-1/2}BA^{-1/2})^t - 1}{t} \right) \left(1 - (A^{-1/2}BA^{-1/2})^{-t} \right)^2 \\ &\quad \left((A^{-1/2}BA^{-1/2})^t + 1 \right) A^{1/2}. \end{aligned}$$

Observe that

$$\begin{aligned}
& \frac{1}{8} A^{1/2} \left(\frac{(A^{-1/2} B A^{-1/2})^t - 1}{t} \right) A^{1/2} A^{-1/2} \\
& \left(A^{1/2} \left(A^{-1} - A^{-1/2} (A^{1/2} B^{-1} A^{1/2})^t A^{-1/2} \right) A^{1/2} \right)^2 \\
& \left(A^{-1/2} \left(A^{1/2} (A^{-1/2} B A^{-1/2})^t A^{1/2} + A \right) A^{-1/2} \right) A^{1/2} \\
& = \frac{1}{8} A^{1/2} \left(\frac{(A^{-1/2} B A^{-1/2})^t - 1}{t} \right) A^{1/2} \\
& A^{-1/2} A^{1/2} \left(A^{-1} - A^{-1/2} (A^{1/2} B^{-1} A^{1/2})^t A^{-1/2} \right) A^{1/2} \\
& A^{1/2} \left(A^{-1} - A^{-1/2} (A^{1/2} B^{-1} A^{1/2})^t A^{-1/2} \right) A^{1/2} \\
& A^{-1/2} \left(A^{1/2} (A^{-1/2} B A^{-1/2})^t A^{1/2} + A \right) A^{-1/2} A^{1/2} \\
& = \frac{1}{8} A^{1/2} \left(\frac{(A^{-1/2} B A^{-1/2})^t - 1}{t} \right) A^{1/2} \\
& \left(A^{-1} - A^{-1/2} (A^{1/2} B^{-1} A^{1/2})^t A^{-1/2} \right) A \\
& \left(A^{-1} - A^{-1/2} (A^{1/2} B^{-1} A^{1/2})^t A^{-1/2} \right) \\
& \left(A^{1/2} (A^{-1/2} B A^{-1/2})^t A^{1/2} + A \right) \\
& = \frac{1}{8} T_t(A|B) (A^{-1} - (A\sharp_t B)^{-1}) A (A^{-1} - (A\sharp_t B)^{-1}) (A\sharp_t B + A)
\end{aligned}$$

and by (3.10) we get the desired result (3.7).

The inequality (3.8) follows in a similar way and we omit the details. ■

If we take in (3.7) and (3.8) $t = \frac{1}{2}$, then we get

$$\begin{aligned}
(3.11) \quad 0 & \leq (B - A) (A\sharp B)^{-1} A - S(A|B) \\
& \leq \frac{1}{4} (A\sharp B - A) (A^{-1} - (A\sharp B)^{-1}) A (A^{-1} - (A\sharp B)^{-1}) (A\sharp B + A)
\end{aligned}$$

and

$$\begin{aligned}
(3.12) \quad 0 & \leq S(A|B) - 4 (A\sharp B - A) (A\sharp B + A)^{-1} A \\
& \leq \frac{1}{4} (A\sharp B - A) (A^{-1} - (A\sharp B)^{-1}) A (A^{-1} - (A\sharp B)^{-1}) (A\sharp B + A)
\end{aligned}$$

for any positive invertible operators with $B \geq A$.

If we take in (3.7) and (3.8) $t = 1$, then we get

$$(3.13) \quad \begin{aligned} 0 &\leq \frac{1}{2} (B - AB^{-1}A) - S(A|B) \\ &\leq \frac{1}{8} (B - A) (A^{-1} - B^{-1}) A (A^{-1} - B^{-1}) (B + A) \end{aligned}$$

and

$$(3.14) \quad \begin{aligned} 0 &\leq S(A|B) - 2(B - A) + (A \sharp_t B + A)^{-1} A \\ &\leq \frac{1}{8} (B - A) (A^{-1} - B^{-1}) A (A^{-1} - B^{-1}) (B + A) \end{aligned}$$

for any positive invertible operators with $B \geq A$.

Similar inequalities may be stated if we take $t = 2$ in Theorem 3, however the details are omitted.

Corollary 2. *Let C be a positive invertible operator and $C \leq 1_H$, then for any $t > 0$ we have*

$$(3.15) \quad 0 \leq \frac{1}{2t} (1_H - C^{2t}) C^{1-t} - \eta(C) \leq \frac{1}{8t} C^{1-2t} (1 - C^t)^3 (1 + C^t)$$

and

$$(3.16) \quad 0 \leq \eta(C) - \frac{2}{t} C (1_H - C^t) (1_H + C^t)^{-1} \leq \frac{1}{8t} C^{1-2t} (1 - C^t)^3 (1 + C^t).$$

If we take in this corollary $t = \frac{1}{2}$, then we get

$$(3.17) \quad 0 \leq (1_H - C) C^{1/2} - \eta(C) \leq \frac{1}{4} (1 - C^{1/2})^3 (1 + C^{1/2})$$

and

$$(3.18) \quad 0 \leq \eta(C) - 4C (1_H - C^{1/2}) (1_H + C^{1/2})^{-1} \leq \frac{1}{4} (1 - C^{1/2})^3 (1 + C^{1/2})$$

while, if we take $t = 1$, then we get

$$(3.19) \quad 0 \leq \frac{1}{2} (1_H - C^2) - \eta(C) \leq \frac{1}{8} C^{-1} (1 - C)^3 (1 + C)$$

and

$$(3.20) \quad 0 \leq \eta(C) - 2C (1_H - C) (1_H + C)^{-1} \leq \frac{1}{8} C^{-1} (1 - C)^3 (1 + C).$$

Acknowledgement. The author would like to thank the anonymous referee for valuable comments that have been implemented in the final version of the paper.

REFERENCES

- [1] S. S. Dragomir, An inequality improving the first Hermite-Hadamard inequality for convex functions defined on linear spaces and applications for semi-inner products, *J. Inequal. Pure and Appl. Math.*, **3**(2) Art. 31, 2002.
- [2] S. S. Dragomir, An inequality improving the second Hermite-Hadamard inequality for convex functions defined on linear spaces and applications for semi-inner products *J. Inequal. Pure and Appl. Math.*, **3**(3) Art. 35, 2002.

- [3] S. S. Dragomir, Some inequalities for relative operator entropy, Preprint *RGMIA Res. Rep. Coll.* **18** (2015), Art. 145. [<http://rgmia.org/papers/v18/v18a145.pdf>].
- [4] S. S. Dragomir, Reverses and refinements of several inequalities for relative operator entropy, *RGMIA Res. Rep. Coll.* **19** (2016), Art. 106. [<http://rgmia.org/papers/v19/v19a106.pdf>].
- [5] S. S. Dragomir and C. E. M. Pearce, *Selected Topics on Hermite-Hadamard Inequalities and Applications*, RGMIA Monographs, 2000. [http://rgmia.org/monographs/hermite_hadamard.html].
- [6] J. I. Fujii and E. Kamei, Uhlmann's interpolational method for operator means. *Math. Japon.* **34** (1989), no. 4, 541–547.
- [7] J. I. Fujii and E. Kamei, Relative operator entropy in noncommutative information theory. *Math. Japon.* **34** (1989), no. 3, 341–348.
- [8] S. Furuichi, Precise estimates of bounds on relative operator entropies, *Math. Ineq. Appl.* **18** (2015), 869–877.
- [9] S. Furuichi and N. Minculete, Alternative reverse inequalities for Young's inequality, *J. Math. Inequal.* **5** (2011), Number 4, 595–600.
- [10] S. Furuichi, K. Yanagi, K. Kuriyama, Fundamental properties for Tsallis relative entropy, *J. Math. Phys.* **45** (2004) 4868–4877.
- [11] T. Furuta, J. Mičić Hot, J. Pečarić and Y. Seo, *Mond-Pečarić Method in Operator Inequalities. Inequalities for bounded selfadjoint operators on a Hilbert space*. Monographs in Inequalities, 1. Element, Zagreb, 2005. xiv+262 pp.+loose errata. ISBN: 953-197-572-8.
- [12] I. H. Kim, Operator extension of strong subadditivity of entropy, *J. Math. Phys.* **53**(2012), 122-204.
- [13] P. Kluza and M. Niezgodna, Inequalities for relative operator entropies, *Elec. J. Lin. Alg.* **27** (2014), Art. 1066.
- [14] M. S. Moslehian, F. Mirzapour, and A. Morassaei, Operator entropy inequalities. *Colloq. Math.*, **130** (2013), 159–168.
- [15] M. Nakamura and H. Umegaki, A note on the entropy for operator algebras. *Proc. Japan Acad.* **37** (1961) 149–154.
- [16] I. Nikoufar, On operator inequalities of some relative operator entropies, *Adv. Math.* **259** (2014), 376-383.
- [17] W. Specht, Zer Theorie der elementaren Mittel, *Math. Z.* **74** (1960), pp. 91-98.
- [18] A. Uhlmann, Relative entropy and the Wigner-Yanase-Dyson-Lieb concavity in an interpolation theory, *Comm. Math. Phys.* Volume **54**, Number 1 (1977), 21-32.

S. S. DRAGOMIR: MATHEMATICS, COLLEGE OF ENGINEERING & SCIENCE VICTORIA UNIVERSITY, PO BOX 14428 MELBOURNE CITY, MC 8001, AUSTRALIA., SCHOOL OF COMPUTER SCIENCE & APPLIED MATHEMATICS, UNIVERSITY OF THE WITWATERSRAND, PRIVATE BAG 3, JOHANNESBURG 2050, SOUTH AFRICA

E-mail address: sever.dragomir@vu.edu.au

URL: <http://rgmia.org/dragomir>

C. BUȘE: DEPARTMENT OF MATHEMATICS, POLYTECHNIC UNIVERSITY TIMIȘOARA, PIAȚA VICTORIEI, NO. 2, 300006, TIMIȘOARA, ROMÂNIA

E-mail address: buse1960@gmail.com